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For each question, four options are given. One of them is the correct answer.
Make your choice (1,2,3 or 4).

1. What is the value of 5200 + 20?

(1) 26

(2) 260

(3) 2600

(4) 26 000 ( )
2. Find the value of 26 -3 x2 + (8 + 8 + 2).

(1) 28

(2) 32

(3) 54

(4) 58 ( )
3. The average age of Elvin’s friends was 11 years old. Elvin was 7 years old. After Elvin joined the

group, the average age became 10 years old. How many children were there in the group after
Elvin joined in?

(1) 5

(2) 6

(3) 3

(4) 4 ( )

4, Round off 56 048 to the nearest hundred.

(1) 56 000

(2) 56 040

(3) 56 050

(4) 56 100 ( )

Write your answers in the spaces provided. For questions which require units, give your answers in the
units stated.

5. What is the product of 67 and 8?

Ans:

6. Round off 23 890 to the nearest thousand.

Ans:
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Every 2™ customer is given a toy and every 4™ customer is given a free ice-cream while every ot
customer is given a free apple pie at the newly-opened Yummy Burger. Kylar received all the 3
free gifts just by visiting the restaurant once. Given that he was among the first 50 customers,

what customer number was Kylar?

Ans:
Write the following in numerals:
Two hundred and fifty-three thousand, one hundred and eight.

Ans:
3x7-10+54+9= [ |
What is the missing value in the box?

Ans:
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Answer Key
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Subject: Primary 6 Maths — Whole Numbers
Paper: CA1 2014

Q1 Q2 Q3 Q4
2 4 1
5. 536
6. 24000
7. 36 because
Multiple of 2: 2,4, 6,8, ......... , 36
Multiple of 4: 4, 8, 12, 16, ...... , 36
Multiple of 9: 9, 18, 27, 36
8. 253108
9. 17
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